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Answers - Revision Exercise 1
(Coordinate Geometry — Straight Lines)

AB: m=-3 , BC: m=2 ("“"B"ﬂ'-,u"-g— E’) B1, M1 AV
} 4 P4 3
BC = V(82 + (k—4)2) (= (k2 —8k+80)) BC=® My oAl -
(k% — 8k +80) =100 (Their BC? =100) Ml
k2 ~8k—-20=0 k-10)(k+2)=0 M1 A\
k=10, k=-2 (rejected) Al
11.6 Bl Bl ;
Gradient of 4B =+ =1
entof AB =g =3 MI AL
Gradient of C=-2, 4—3-,; ==2 (or full Pythag. method) | Ml
AB=+ (4% +8%) Ml Al
= V80 = V16V5 = 45 Al
BC=V(12 +22)=v5 (orAC =Y (7% +62)=85) Blft
1
Area of ABC =7 (4V5 x ¥5) = 10 Ml Al .

Other exact methods can score M1 A2.

Non-exact methods score M1 A0 (but may gain the B1).

y-2=-2@-7) w2

2x+y-16=0 : =g\ ()
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(® When y =0, x=8 D(8,0)
When x =0, y=16  E(0,16) (both) BIY
Mid-point (4. 8) M1 Alﬁw
3
(a) ' Iy
A .
(Lines) 1 Bl Bl
(Intersecﬁonsﬁ Bl
| . | (I C
.‘ - ’ |
-3
/| 2
() —3x=2x-3  2x=3  x=% y=—% M1 Al Al
. (3)
(c) Perp.tol, : m=4 Bl
y+ % =4 (x —%) Ml
12x—-3y—17=0
Y Al (3)
@)
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i . 1+3 1+5
D | Midpoint = ( - .%) —(2.3) Bl
. . 5-1 . 1 M1
Grad of AC vy = =2= Grad of petp = ——
3-1 2 Al
a1 A =
_’.1—::——5(.\*—2]_,’—2.1 +6=x-22x+2y=8 |1 aj
5
(ii) | -2+10 = 8. so B lies on the line. Bl
s 4 by s 4 Y
Bto(23)=| _ ]: 2.3)toD=[ ; ]:>Dis 6.1 |1 Al
T = \ =) Al
4
(iii) | _\/ 2 o 2 M1 Use to find area
MA=y(2-1) +(3-1) =45 Al |Both
MB:J(2——2) +(3-5) =+/20 Al
Area=2MAMB= 2\/5\,‘20 =20
3
5
(i) _ 4-3 1
Grad AB=——"2=7 Bl Both
Grad BD= -~ = 4
4-2 B1
= mym, = —1= perpendicular 2
(i) ABz\/(_4—3)3+(2+2)2=\/ﬁ Ml
BD:\/(—4—4)2 +(4-2)" =+f68
— Area =+17./68 =17.2417 = 34 M1, Al | c.a0
3
iii +4 x—4 M1
M) ep. 254 Xt 16— d
3+4 8-4
=4y =x-20 .
—x=0. y=-5
ie X(0.-5) 2
(iv) . , X (240 4-5Yy 1 M1 Attempt at any
Midpoint of BX is {T > ] = [ 1.—5 ] valid method
2+4 4 ( 1“ Fl
K + :\_ F - Y
Midpoint of AD is {— ’ :l L—— ] 2
2 T2 )7 2
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(v) | Parallelogram = Trapezium MBCD + Triangle MAB Bl
Triangle BXC = Trapezium MBCD + Triangle MXD
And triangle MAB is congruent to triangle MXD (SAS)
So area of triangle BXC = 34
, M1
BX = \/(_2 —0) +(4+5) =85
1 . 68 4 —
= Area _EBXX Perp =34 = Perp ——_85 =3 85 Al Or equivalent
3
6
(a) (s Ml Al
(4 =t@egy o L
3 x-9 3
3y—x+21=0 (o.e.) (condone 3 terms with integer coefficients e.g. 3y+21=x) Al
(3)
(b) | Equation of Iis: y=-2x (o) BB/III
Solving I, and /, : —-6x—x+21=0
p ispoint where x, =3,  y,=-6 x,ory, |Al
v, orx, |Alft (=29
“4)
(c) . 1 ..
(s y=—-x-7) Cis(0,-7) or OC=7
° BIft.
1 1 21
Area of AOCP=_0Cxx,, =_-x7x3=105 or —
2 2 2 M1 Alc.a.o.
3)
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g2 1
a)) m=—— (=—
@) 11+1 ( 2)
M1 Al
1 1
y—2= E(x——l} or y—8=3(x-11) 0.e.
M1
I 5 .
y= 51’ +E accept exact equivalents

(b){ Gradient of [, =-2
M1
Equationof /,: y—0=-2(x-10) [y=-2x+20]

1 5
M1 —x+—-=-2x+20
2 2

M1

x=7 and y=6

(©)| RS*=(10-7)+(0-6)(=3"+6")
M1

RS=\45=35 (%

d) | PO=+12+6".=6/5 or 4180  or PS=4+/5 and SO= 245
M1.Al

Area = %PQXR.S‘ :%{Sﬁﬁ\/g

dM1

[l
I
N
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(b)  Gradient of /| is

2 | W

2
hi y=(=3)=-3(x-3)

2x+3y=1

(¢) Solving: 3x—-2y=4

2.’(4-3‘1-':] x= —

Bl

M1 Alft

Bl

M1 Alft

Al

MI Al

MI1 Alft
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